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(b)
(©)

3. (a)

(b)
(©)

(d

4. (a)

(1) The weissis.... can form peroxide in group-I of
periodic table.

(i) The Alkaline earth metals have ...........
valence shell configuration.
(iv) The carbonates of ........... and ........... n

group- 2 of periodic table are unstable
towards heat.

Why Be and Mg gives no colour in flame ?

Explain the order of basicity among group-1
hydroxides in the periodic table.

Why 1st ionization energy of group-2 elements is
higher than group-I elements while 2nd ionization
energy of group-I elements is higher than group-2
elements ? 2,222

Define diagonal relationship with an example.

Out of Be or Mg, which has lowest ionistaion
energy and why ?

Why lithium is the strongest reducing in the
group-1 of periodic table ?

SECTION -1l

Fill in the blanks :
(1) The basic radicals in group-IV is/are .......
in inorganic analysis.

(1) The group reagent for group-Il of basic
radicals is .......... . in inorganic analysis.

(b)

(©)

5. (a)

(b

(©

6. (a)

(b)

21

(iii) The brown ring test is used for the dete
(1) S ion in inorganic analysis.

(iv) The formula of Nessler's reagent is .......

What is the function of NH4CI in group-lil
basic radicals ?

Explain the Lime water test of carbonate ion
their reaction.

Explain the Ammonium molybdate test
phospahte ion with their reaction. 2,2,

What is the function of NH,OH as group rea
in group-IV of basic radicals ?

How sulphite ion is detected in presence
thiosulphate ion ?

Give differences in between post-precipitation
co-precipitation.

SECTION ~ Il

Fill in the blanks :

(1) The boric acid on reaction with ............
............ gives triethyl borate.

(ii) The H,SO, is called sulphuric acid
Fhroasbi o v 0 e is called Marshall's acid.

(iii) The ........ .... never shows positive oxidat
in the periodic table.

(iv) The ............ shows maximum catenation
group-I 6 of periodic table.

(v) The............ is oxidation state of nitrogen
ammonium nitrate.

Why H,O is liquid while H,S is a gas ?
(3) P.T




